|
2. 14
.10,
4. L, 16
5. 17,
6. 4

7. 6, 8
5,15
9. 7

0.1 3
o 4
12 L, 0
13. 12

4.3 5
15. 1,

Name: Date:

Teacher: Class:

Before, After, Between 206

Why didn't the skeleton cross the road? He didn't have the
guts.

Fill in the missing number.

16. 12, . 14
17. 3

18. 2 4
19. 11, .13
20. 9,

21, , 18

22. 13

23. 8,

%5 7
25. 4. 6
26. 15,

27. 13

28, ;17

2. 8, . 10
30. 16,

© Facilitators Ferriswheel

Score:



Answer Key Date:

Teacher: Class:

Before, After, Between 206

Why didn't the skeleton cross the road? He didn't have the
guts.

Fill in the missing number.

1. 0,1 16. 12,1_3,14
> 13 , 14 2,3
.10, 11 , 12 8.2, 3 ,4
415 , 16 1911, 12 , 13
> 17, 18 , 19 0.9, 10

5 3,4 2L 17, 18

1. 6, L’ 8 22. 1—2’ 13

8. A, 15 23. 8, L
7,8 5, 6,7
0.1, 2 ,3 5.4, 5 .6
1.2 3 ,4 26. 15, 16

2. 8 ,9 27. 12 , 13

13. 12, 13 28. 16 , 17
4.3, 4 |5 9.8, 9 ,10
151, 2 30. 16, 17

© Facilitators Ferriswheel Score:



